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EURS4JT500 5.0 13 57 §) 0.3
EURS4JT600 6.0 13 57 ) 0.5
EURS4JT800 8.0 19 63 8 0.5
EURS4JT1000 10.0 22 72 10 0.5
EURS4JT1200 12.0 26 82 12 0.5
EURS4JT1600 16.0 32 92 16 0.6
EURS4JT2000 20.0 38 104 20 0.6
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EURL4JT500 5.0 19 63 3§ 0.3
EURL4JT600 6.0 19 63 6 0.5
EURL4JT800 8.0 28 72 8 0.5
EURL4JT1000 10.0 34 82 10 0.5
EURL4JT1200 12.0 40 97 12 0.5
EURL4JT1600 16.0 48 108 16 0.6
EURL4JT2000 20.0 56 122 20 0.6
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EURJ4JT500 50 13 60 6 0.3
EURJ4JT600 6.0 13 60 6 0.5
EURJ4JT800 8.0 19 80 8 0.5
EURJ4JT1000 10.0 22 80 10 0.5
EURJ4JT1200 12.0 26 80 12 0.5
EURJ4JT1600 16.0 32 100 16 0.6
EURJ4JT2000 20.0 38 105 20 0.6
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